
Multiply by 10⁻³ (B)Find each product.
6,402 × 10⁻³ = 7,58 × 10⁻³ =
2,4838 × 10⁻³ = 6,7116 × 10⁻³ =
9,6901 × 10⁻³ = 6,2 × 10⁻³ =
5 × 10⁻³ = 3,58 × 10⁻³ =
7,73 × 10⁻³ = 0,8846 × 10⁻³ =
1,4427 × 10⁻³ = 8,429 × 10⁻³ =
1 × 10⁻³ = 1,7 × 10⁻³ =
2,18 × 10⁻³ = 3,2 × 10⁻³ =
0,12 × 10⁻³ = 8,934 × 10⁻³ =
9,033 × 10⁻³ = 5,16 × 10⁻³ =
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Multiply by 10⁻³ (B) AnswersFind each product.
6,402 × 10⁻³ = 0,006402 7,58 × 10⁻³ = 0,00758
2,4838 × 10⁻³ = 0,0024838 6,7116 × 10⁻³ = 0,0067116
9,6901 × 10⁻³ = 0,0096901 6,2 × 10⁻³ = 0,0062
5 × 10⁻³ = 0,005 3,58 × 10⁻³ = 0,00358
7,73 × 10⁻³ = 0,00773 0,8846 × 10⁻³ = 0,0008846
1,4427 × 10⁻³ = 0,0014427 8,429 × 10⁻³ = 0,008429
1 × 10⁻³ = 0,001 1,7 × 10⁻³ = 0,0017
2,18 × 10⁻³ = 0,00218 3,2 × 10⁻³ = 0,0032
0,12 × 10⁻³ = 0,00012 8,934 × 10⁻³ = 0,008934
9,033 × 10⁻³ = 0,009033 5,16 × 10⁻³ = 0,00516
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